
Zona Industrial, Apartado 36
3684-001 Oliveira de Frades, Portugal

T.+351 232 811 381

F. +351 232 767 381

distribution.gr@voltalia.com

Installation Manual

EXTENSION ROOF



x 4 x 2 x 4 x 6 x 4 x 6 x 2

x 2 x 1 x 1

x 2

x 2 x 2 x 3 x 1 x 2

11 2 3 4

9 10 11

6 7 8

12 14 15

CONECTOR

PERFIL ALUMÍNIO

(COMPRIMENTO 300MM)

1613

5

HAMMER HEAD SCREW
M8X30 DIN186  INOX A2

ALUMINIUM PROFILE
(1100MM LENGTH)

ADJUSTABLE HOOK
INOX 304

SCREW-NUT M8
DIN934 STAINLESS STEEL A2

WASHER M8
DIN9021 STAINLESS STEEL A2

SPRING WASHER M8
DIN127 STAINLESS STEEL A2

HAMMER HEAD SCREW
M8X40 DIN186  INOX A2

MICRO-INVERTERALUMINIUM MIDDLE CLAMP PV MODULE
GROUND CABLE 4MM

(LENGTH 870MM)
SCREW-NUT M4

DIN934 STAINLESS STEEL A2

HEXAGONAL CYLINDRICAL
HEAD SCREW M4X16 DIN912

STAINLESS STEEL A2

WASHER M4

DIN125 STAINLESS STEEL A2

SCREW PHILLIPS AUTO-DRILL
Ø3.5X13 DIN 7504-N INOX A2

2º

AB

1º

±30KG

KIT WEIGHT

1 DISCONNECT KIT
Connector Micro Inverter / Frame or socket / Ground wire

2 HOLES FOR SUPPORTING STRUCTURE
Holes according to the Supporting Structure System



1050±
82

0±

7

3 FIXING HOOKS STAINLESS
Fixation not included



8

8

16

5

6

4

2

3

3

3

3

4

5

PLACING TILES

MOUNTING ALUMINIUM PROFILES



6

5

1

4

10

15

13

14

12

14

5

6

MICRO-INVERTER FIXATION

GROUND CABLE CONNECTION



6

4

2

4

2

6

9

6

4

7

8 CLAMPS INSTALLATION

END CLAMPS UNSCREW



3º"CLICK"

BA

4º

2º"CLICK"

1º

"C
LIC

K
"

"CLICK"

15

17

16

13

14

11

A B

8

9

AC / DC AND GROUND CABLE CONNECTION

PV MODULE INSTALLATION


	Sheets and Views
	Energykit_Extension_Roof_27.04.2017_EN-Cover
	Energykit_Extension_Roof_27.04.2017_EN-1
	Energykit_Extension_Roof_27.04.2017_EN-2
	Energykit_Extension_Roof_27.04.2017_EN-3
	Energykit_Extension_Roof_27.04.2017_EN-4
	Energykit_Extension_Roof_27.04.2017_EN-5
	Energykit_Extension_Roof_27.04.2017_EN-6




